Matematiikan Perusmetodit I/sov.
Trigonometrisia kaavoja

(1) sin’z+cos’z =1

(2) sin(§ —x) =cosz, cos(5 —x)=sinz,

tan(§ —x) = cotw, cot(§ —x) = tanw.

(3) sin(m —x) =sinz, cos(m —x) = —cosz,

tan(m —x) = —tanz, cot(mr —x) = — cotx.

(4) sin(x £+ y) =sinxcosy £ coszsiny,
cos(z £+ y) = cosxcosy F sinzsiny.

(5) tan(z & y) = [emzktany

1 F tanztany’

__ cotzcoty F 1
COt(I + y) " coty *cotz °

(6) sin2x = 2sinzcosx,

cos2z = cos’z —sinx = 1 — 2sin®z = 2cos’ = — 1,

__ _2tanz
tan2r = =5,
_ cot?’z—1
cot 2r = .
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(7)  sinz + siny = 2sin *5¥ cos *-2,

— zty T—y
cosx + cosy = 208~ o8 —5~,
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COST — CoSyY = —2s8in = 5

(8) y=arcsinz, z € [-1,1] & siny =z, y € [-7, 5]
(9) y=arccosz, z € [—1,1] & cosy =z, y € [0, 7).

(10) y=arctanz, r € R & tany = o, y €] — 7, 7.



